Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35

vs dxy(PV)

efficien:

o
N
- ul
R L L L R L LRy LA LR LA

Ratio

5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

[y

0.8]

efficiency vs dxy(PV)

0.6}

Ratio

0 4 06 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

(()y{ ~ERPET PPV Y O EPPEPEP PPEPR PEPES

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

0.2]

0.

N

[ T T R

Ratio

0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5

o [

N [

©

Y

>

>

o

=4

o

o

) . . . . .
0.6[-=-=-f=-=ap-=ee g
0af B DU SOOI A A
Y S - +” ;

° ob—i | o ¥ i i

T 12 -1

o : 1 :

I SO s H ferieeq

05 o

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


